o 0[GeV]

Ratio to ATLAS

=
o'

=
o

1.2

0.8

0.6

0.4

0.2

[EEY

0.5

7000 GeV pp

Soft QCD

T T T T T T T T T T T %)
B | | | T] 2
B Average p, Vs N, (NCh >2,p >0.1 GeV) 1z
- —=
- m ATLAS 1o
L --O-- Herwig++ 2.7.1 default N
— --3-- Herwig 7.2.0 default =
- —a— Pythia 8.130.p1 default —®
‘_ 2
n e
B ey
™
— — <
L — ™M
| il o)
o
L -1 M
I _ |
B .=
e 1%
@ &
E — :
(&)
& <
B o
- — O
- —
n -9
- |
- ] (&)
r | | | | | | | | | | | | | | | [ . | -
: T T T T | T T T T | T T T T | T T T |:
— -2
o — -
v.g, 1
b i R e 1
QOHTHD-O- - o "\'g\:—\::-@:,, _ -
o e |
L 1 —
| —0.5
1 1 1 1 | " 1 1 1 1 " | " 1 1 " 1 1 " | " 1 1 " 1 " |
0 50 100 150 200



	Contents
	Page 1


